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Which of the following is the treatment of choice for AV nodal reentrant tachycardia?

A. DC ablation

B. RF ablation

C. Microwave ablation
D. Laser ablation

Answer: B

Explanation:

The question at hand asks to identify the most appropriate treatment for AV (Atrioventricular) nodal
reentrant tachycardia (AVNRT). AVNRT is a type of supraventricular tachycardia caused by a re-entry
circuit in or around the AV node. It is one of the most common types of palpitations in humans.

Among the options provided—DC ablation, RF ablation, microwave ablation, and laser ablation—the
correct and most effective treatment is RF ablation. Radiofrequency ablation involves the use of energy
in the form of radio waves to destroy a small area of heart tissue that is causing rapid and irregular
heartbeats.

In the clinical context, RF ablation specifically targets the slow pathway of the AV node, which is crucial
in the re-entry circuit responsible for AVNRT. This pathway can be selectively ablated, which disrupts the
circuit and terminates the tachycardia. The procedure is minimally invasive, typically guided by catheters
inserted through the groin and maneuvered into the heart under fluoroscopic guidance.

RF ablation is favored over other methods like DC ablation, microwave ablation, and laser ablation for
several reasons. DC (direct current) ablation is an older technique and generally considered less safe and
less precise compared to RF ablation. Microwave and laser ablations are not standard treatments for
AVNRT and do not offer the same level of efficacy and safety profile as RF ablation in this specific
condition.

The success rate of RF ablation for AVNRT is very high, with most patients experiencing immediate relief
from symptoms. The procedure also has a low complication rate and typically results in a permanent
cure, making it the treatment of choice for AV nodal reentrant tachycardia.

When providing information to a patient it is extremely important to test which of the following?

A. The patients’ interest

B. The patients’ intelligence

C. The patients’ understanding
D. All of the above

Answer: C
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Explanation:

When providing information to a patient, it is imperative to assess the patient's understanding of the
information being communicated. This is crucial because the effectiveness of medical advice and
treatment often hinges on the patient’s ability to comprehend and subsequently follow the healthcare
provider's instructions. Testing the patient's understanding can be accomplished in various ways, such as
asking the patient to summarize the information, posing specific questions related to the instructions, or
encouraging the patient to ask questions about any unclear aspects.

The rationale behind emphasizing the patient's understanding over other factors, such as interest or
intelligence, is grounded in practical outcomes. While a patient's interest in the information is beneficial,
it does not necessarily correlate with understanding. Similarly, assessing a patient's intelligence is not
only inappropriate but also irrelevant to the task of ensuring they have grasped the necessary details to
manage their health effectively. The primary goal is to ensure comprehension regardless of the patient’s
baseline level of interest or intellectual ability.

Furthermore, by actively engaging the patient in the discussion and confirming their understanding,
healthcare providers can significantly reduce the risks associated with miscommunication. This can lead
to better health outcomes, as patients who understand their treatment plans are more likely to adhere
to them. It also empowers patients, making them active participants in their own healthcare.

In conclusion, when providing information to a patient, testing their understanding is crucial. It ensures
that the communication has been effective, facilitates better patient care, and enhances adherence to
treatment protocols. This practice should be an integral part of all healthcare interactions to maximize
the efficacy of treatment and patient satisfaction.

A would be considered a device/instrument which reads a person’s blood pressure?

A. Sphygmomanometer
B. Pulse oximetry

C. Cardiac catheter

D. Centrifuge

Answer: A

Explanation:

A **sphygmomanometer** is the correct answer to the question, as it is specifically designed to
measure blood pressure. This device can either be manual or automatic.

**Manual Sphygmomanometers** are used with a stethoscope. A cuff is placed around the patient's
arm and inflated manually with a rubber bulb. As the cuff inflates, it compresses the arm, temporarily
cutting off blood flow. Air is then slowly released from the cuff, and the person measuring the blood
pressure listens with a stethoscope placed over the artery on the inside of the elbow. As the blood
begins to flow again, the sounds heard through the stethoscope are used to determine systolic and
diastolic pressures.

**Automatic Sphygmomanometers**, on the other hand, use electronic sensors and a digital display to
show the blood pressure reading. These devices also involve a cuff that is wrapped around the patient's
arm. When activated, the cuff automatically inflates and then slowly deflates. The electronic sensor
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measures the vibrations in the arterial wall as blood flows again and converts these measurements into
electrical signals which are then displayed as blood pressure readings.

In contrast, **pulse oximetry** is a method used to gauge the oxygen saturation level of the blood and
pulse rate, not blood pressure. **Cardiac catheters** are used for diagnosing and treating
cardiovascular conditions and can measure pressures within the heart chambers, but they are not used
for routine blood pressure measurement. **Centrifuges** are used in laboratory settings to separate
substances of different densities but have no role in measuring blood pressure.

Therefore, when considering a device specifically for reading blood pressure, the sphygmomanometer is
the appropriate choice. It is widely used in both clinical and home settings due to its effectiveness and
relative ease of use in monitoring cardiovascular health.

Accurately timed and efficient atrial and ventricular contraction is functionally significant for which of
the following?

A. Pulmonary capillary wedge pressure recording
B. Complete mitral valve leaflet closure

C. Adverse pacemaker hemodynamics

D. All of the above

Answer: B

Explanation:

Accurately timed and efficient atrial and ventricular contraction is crucially significant for the complete
closure of the mitral valve leaflets. This timing is essential because the mitral valve, located between the
left atrium and left ventricle, must close properly at the end of atrial contraction and just before
ventricular contraction to prevent the backflow of blood. The synchrony between the atrial and
ventricular contractions ensures that the heart functions efficiently, maximizing the amount of blood
pumped with each heartbeat and maintaining optimal cardiac output.

In scenarios where there is right ventricular (RV) pacing, such as in patients with specific types of heart
block or bradycardia, there can be significant implications related to the timing of atrial and ventricular
contractions. RV pacing, particularly when not properly synchronized with atrial activity (loss of
atrioventricular or AV synchrony), can lead to suboptimal timing. This mistiming can prevent the mitral
and tricuspid valves (the latter being located between the right atrium and right ventricle) from closing
completely. The incomplete closure can result in regurgitation, where blood flows backward instead of
towards the ventricular outflow tracts, leading to inefficient cardiac function and reduced cardiac
output.

Further, adverse pacemaker hemodynamics can also occur with inappropriate AV timing in pacemaker
settings. This can lead to various complications, including increased cardiac workload, decreased cardiac
efficiency, and potentially worsening heart failure symptoms. The pacing-induced dyssynchrony might
artificially alter the natural sequence of chamber contractions, thereby affecting overall heart function
and potentially leading to conditions such as pulmonary hypertension if left untreated.

Therefore, while the question highlights the significance of accurately timed and efficient atrial and
ventricular contractions primarily for complete mitral valve leaflet closure, it is also implicitly important
for maintaining overall cardiac health and preventing complications associated with devices like
pacemakers. The broader impact includes maintaining efficient hemodynamics and preventing
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regurgitation across other cardiac valves, not just the mitral valve. Hence, the correct response to the
question would encompass all these aspects, indicating that the significance of such timing extends
beyond just one specific function.

If drawing blood from a triple lumen central line catheter, which of the ports is used?

A. Medial

B. Distal

C. Proximal

D. None of the above

Answer: C

Explanation:

A triple lumen central line catheter is a type of central venous catheter that has three separate lumens
or channels. Each lumen opens at different segments along the catheter's length and is utilized for
different purposes, which can include administering medications, fluids, and drawing blood. This
versatility is particularly useful in a critical care setting where multiple therapies might be administered
concurrently.

Among the ports of a triple lumen catheter, the proximal port, which is typically marked with a brown
cap, is primarily used for drawing blood. This port is closest to the entry point of the catheter, making it
more accessible and generally less likely to be obstructed or influenced by infusions from other ports.
Using the proximal port for blood draws helps in obtaining more accurate blood samples and reduces
the risk of contamination from other substances being administered through the catheter.

The medial port, which is generally used for the administration of routine intravenous (IV) fluids and
medications that are delivered via an infusion pump, serves a crucial role in the ongoing management of
the patient’s therapeutic needs. This port is specifically reserved for these functions to prevent any
interference with the critical measurements or treatments delivered through the other ports.

The distal port, identified by a white cap, is typically reserved for special infusions such as total
parenteral nutrition (TPN) or other high-risk medications. This port is the farthest from the entry point
of the catheter. Using the distal port for these purposes helps isolate these infusions, reducing the risk
of interactions with substances administered through the other ports.

In summary, the proximal port of a triple lumen catheter is specifically used for blood draws due to its
accessibility and reduced risk of interference with the administration of medications and fluids through
the other ports. This distribution of functions among the ports helps in managing multiple therapeutic
needs efficiently while minimizing the risk of cross-contamination and interference.

Which of the following would be considered the correct intervention if the two forms of patient
identifiers do not match?

A. Continue with the test and/or procedure
B. Discharge the patient home
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C. Draw the blood sample anyway
D. Contact the physician or nurse and do not do the test or procedure until there is a correct ID bracelet
on the patient.

Answer: D

Explanation:

In healthcare settings, accurate patient identification is crucial to ensure patient safety and effective
medical treatment. The use of two forms of patient identifiers, such as a name and date of birth, is a
common practice to confirm the identity of the patient before any medical test or procedure is
performed. This is to prevent medical errors such as administering treatment intended for another
patient.

If upon verification, these two forms of identifiers do not match, it raises a red flag concerning patient
safety. The correct intervention in this scenario is to pause any further action regarding the test or
procedure. The clinician should not proceed with the test or procedure until the mismatch is resolved.
This is essential to prevent potential harm that could arise from mistaken patient identity.

The intervention involves contacting the responsible physician or nurse to alert them of the discrepancy.
The medical staff should then re-verify the patient's identity, ensuring that all records and identifiers like
ID bracelets are consistent and accurate. This might involve checking the hospital's records system for
any errors in data entry or updating the patient's information if it has been incorrectly recorded.

Only once the patient identifiers have been corrected and match across all platforms, should the
healthcare provider proceed with the intended medical test or procedure. This step is crucial not only
for the safety and well-being of the patient at hand but also helps maintain the integrity of the
healthcare system by preventing errors that could lead to incorrect treatments, complications, or even
legal repercussions.

In summary, the correct intervention when two forms of patient identifiers do not match is to halt any
planned tests or procedures, contact the attending physician or nurse, and rectify the mismatch of
identifiers. Once the identifiers are confirmed to be accurate and matching, and a correct ID bracelet is
placed on the patient, the healthcare provider can then safely proceed with the necessary medical
interventions. This protocol helps to ensure that each patient receives the correct medical attention
tailored specifically to their needs and health conditions.

Of the following medications, which would more than likely be administered if the patient is
experiencing Torsades de Pointe?

A. Lidocaine
B. Furosemide
C. Magnesium
D. Adenosine

Answer: C

Explanation:
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Torsades de Pointes is a specific type of ventricular tachycardia characterized by a distinct, twisting
pattern on an electrocardiogram (ECG). It often occurs in the context of a prolonged QT interval, which
can be due to various causes including certain medications, electrolyte imbalances, and genetic
conditions. This arrhythmia can be life-threatening as it may lead to ventricular fibrillation or sudden
cardiac arrest if not promptly treated.

Among the medications listed — Lidocaine, Furosemide, Adenosine, and Magnesium — Magnesium is
the most appropriate choice for treating Torsades de Pointes. Magnesium plays a crucial role in
stabilizing the electrical activity of the heart, particularly in the context of a prolonged QT interval. It
helps in correcting the underlying repolarization abnormalities that contribute to the development of
this arrhythmia. Intravenous magnesium sulfate is typically administered even if blood magnesium levels
are normal, as it has been found to be effective in suppressing Torsades de Pointes.

Lidocaine, primarily used for ventricular arrhythmias, is not typically effective for Torsades de Pointes
and is generally not recommended in this scenario. Lidocaine stabilizes the neuronal membrane by
inhibiting the ionic fluxes required for the initiation and conduction of impulses, thereby stabilizing the
cardiac membrane. However, it does not address the specific mechanisms involved in Torsades de
Pointes.

Furosemide, a loop diuretic, is primarily used to treat conditions such as edema and hypertension. It is
not used in the treatment of Torsades de Pointes and, by promoting the excretion of potassium and
potentially magnesium through the kidneys, could potentially worsen the arrhythmia.

Adenosine is typically used to manage supraventricular tachycardias (SVT) by temporarily slowing down
the heart's conduction through the atrioventricular (AV) node. It is not effective for Torsades de Pointes,
as this arrhythmia originates from the ventricles and involves different pathways.

In conclusion, when managing a patient with Torsades de Pointes, magnesium is the preferred
treatment option for its direct effect on cardiac repolarization. It is effective in most cases, and
treatment should be initiated as quickly as possible to stabilize the patient's rhythm and prevent further
complications.

Of the following, which would be considered correct criteria for a patient to be discharged from
ambulatory surgery department?

A. Can be comatose

B. Blood pressure needs to be above 90/60

C. Patient can be discharged with different level of mental function than prior to surgery
D. Needs to be able to provide a degree of self-care

Answer: D

Explanation:

When considering the discharge of a patient from an ambulatory surgery department, it is crucial to
ensure that they meet specific health and safety criteria to avoid complications and ensure a smooth
recovery process. These criteria are usually established based on the guidelines that are designed to
maximize patient safety and minimize the risk of post-operative complications.

One of the primary criteria for discharging a patient after ambulatory surgery is that the patient must be
able to provide a degree of self-care. This means that the patient should be capable of performing basic
tasks such as walking, eating, and using the restroom independently or with minimal assistance. This
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criterion is essential because it indicates that the patient has recovered sufficiently from the anesthesia
and the surgical procedure to perform basic activities without professional medical support.
Furthermore, the patient must be alert and should have regained mobility to the extent they had prior
to undergoing surgery, provided they were alert and mobile before the procedure. This ensures that the
patient's mental and physical capacities are restored to a safe level. Being alert is crucial as it implies
that the effects of anesthesia have worn off sufficiently for the patient to be conscious and aware of
their environment, which is vital for their safety, especially when they resume activities outside the
controlled environment of the hospital.

Stability in vital signs is another important discharge criterion. For instance, the patient's blood pressure
should be stable and within a safe range (commonly considered to be above 90/60 mmHg). Stable vital
signs are indicators that the patient is not experiencing immediate postoperative complications such as
excessive bleeding, shock, or other potentially life-threatening conditions.

Contrary to the notion of discharging a comatose patient or one with a significantly altered level of
mental function compared to their pre-surgery state, such conditions are generally not acceptable for
discharge. Patients should maintain or return to their previous level of mental function to ensure they
can understand and follow post-operative care instructions and safely manage their recovery at home.
In summary, the correct criteria for discharging a patient from an ambulatory surgery department
include the ability to perform a degree of self-care, alertness and mobility, stable vital signs, and a
return to pre-operative or near pre-operative levels of mental function. These criteria ensure that the
patient is sufficiently recovered to continue recuperating safely at home, thereby supporting a smooth
transition from surgical treatment to home recovery.

Convective and which of the following would be considered a phase of heat transfer?

A. Resistive

B. Employment
C. Temperature
D. Evaluative

Answer: A

Explanation:

Heat transfer, a fundamental aspect of thermodynamics, involves the movement of thermal energy
from one place to another and occurs in three principal modes: conduction, convection, and radiation.
Understanding these modes is crucial for applications ranging from industrial processes to everyday
household tasks.

**Conductive Heat Transfer** occurs through direct contact. When two objects at different
temperatures come into contact, heat flows from the hotter object to the cooler one until thermal
equilibrium is achieved. This transfer happens at the molecular level, where faster-moving molecules
(higher temperature) collide with slower-moving molecules (lower temperature), transferring kinetic
energy. Common examples include a metal spoon heating up in a pot of hot soup or ice melting in your
hand.

**Convective Heat Transfer** involves the movement of heat by the physical movement of fluids (which
include liquids and gases). This process depends on the fluid's motion, which can be either natural
(caused by buoyancy forces due to temperature differences within the fluid) or forced (induced by
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external means like a fan or pump). For instance, when heating water in a pot, the hot water near the
bottom becomes less dense and rises, while the cooler water descends, creating a convection current
that evenly heats the water.

**Radiative Heat Transfer** does not require a medium and can occur in a vacuum. It is the energy
carried by electromagnetic waves, primarily in the infrared spectrum for most everyday applications. All
objects emit some level of radiant energy depending on their temperature. The Sun warming the Earth
and heat from a light bulb are examples of radiative heat transfer.

The options provided in the question suggest "Resistive" as a mode of heat transfer, which seems to be
a misunderstanding. 'Resistive' typically refers to electrical resistance, which is related to the conversion
of electrical energy into heat when an electric current flows through a resistive material, but it is not
categorized as a form of heat transfer like conduction, convection, or radiation. Instead, terms like
'conductive,' 'convective,' and 'radiative’ correctly describe the phases or modes of heat transfer. Thus,
the correct pairing with "convective" in the context of heat transfer phases is either "conductive" or
"radiative."

Which of the following is not one of the typical risks of lead extraction?

A. Damage to the kidney

B. A blood clot in the lung

C. Damage to the heart valves

D. Fluid accumulation around the heart and lungs

Answer: A

Explanation:

Damage to the kidneys is not commonly considered among the typical risks associated with lead
extraction procedures. Lead extraction primarily refers to the removal of implanted leads used in cardiac
devices such as pacemakers and implantable cardioverter-defibrillators (ICDs). This medical procedure
involves specific risks primarily related to the cardiovascular system and the physical trauma of
removing the leads, rather than directly affecting the kidneys.

Typical risks associated with lead extraction include potentially life-threatening complications such as: -
A blood clot in the lung (pulmonary embolism), which can block blood flow to the lungs. - Damage to the
heart valves or myocardial tissue, which can occur if the leads adhere to or penetrate these structures. -
Pericardial effusion or fluid accumulation around the heart and lungs, which may lead to cardiac
tamponade, a severe compression of the heart. - In rare instances, the procedure can result in death,
particularly if any severe complications occur during or after the extraction. - Stroke, which may arise
due to embolic events or bleeding complications. - Anesthesia-related complications, which could
include reactions to anesthesia or respiratory issues. - Localized issues such as swelling of the arm,
hematoma (bleeding under the skin), and infection at the site of the procedure.

While the procedure does carry significant risks, damage to the kidneys is not typically one of them. The
kidneys might be indirectly affected in cases where the patient experiences severe complications like
extensive bleeding or shock, but such occurrences are not direct risks of the lead extraction itself.
Instead, they would be secondary complications arising from other primary procedural risks. Hence,
when considering the safety and risks of lead extraction, focus is mainly on cardiovascular and
procedural complications.
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